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����2�������2�� +��0��# 6��&H/����. � �&���H-�2 3�&������2&����� ����8
�� +����2�H� ��9���. � ������������ �� ����2� 2���&.2� �����$�� ��?���#
������� .�&.H��. �0 +�������&���.2� � ��� � �+����&.H��. �0 ��7��2��������8
��(H 
�7��2�$������ �+���&���� ��� $�&���+���&����� 7��2�������� � �+���8
&.�2�0 ������� ��7��2�$������ ��������� !��7��2����������� � ���� +���8
����&���� �������" �?��+�/����� $����� ��7��2�$������� �+���&���. ��������
�����2� +�&�/���� �+��2�&(��0 ��6�&(����� +� ����� $�&���� 7���$�� m<n ����8
����&���. ������� ����� � ��/������� ���������# ��/������� �0 �$���� � ��?��� 

1� ��6&2 %&� '%&#'��&�& ��C&85'>�&��&�& :48'# ���=

��� +��������� 6���/� ���&���������� ��7��2�$������� �+���&���. � ��6��8
?���� 2����� �� ��9���. +��2��.���. +���$�+ ��������� �+���&���.# �7��2�&�8
�������� ,������2 � � mDn 

����2���������. ���0��������. �������. �����2� � $�&������2&����2� ����8
��2� � $�����2 ��7��2�$������� �+���&���. ������ ���?-�H� $����� �$���� s
+���2����� ����� 2���&� �����$�� ��?��� !��+��2��# ��+ ������" r ∈ Ω# � $����
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7��2����� � +������� ������2 ���?-���� x ∈ X G ��7��2�$��� � �+���?�0 ���8
����.# ���?-���. u ∈ U � �������$���# 2�����$��� � ����2����$��� q�� ���?8
-���. .�&.H��. ��7��2�$�����2� �+���&.H-�2� ��6�������.2� $����� � �68
2��.H� +���2���� ������� r(u) 
������� ������� � $����� ����1�H��. �0 $�&�8
��2� 7���$�.2�# f(x, y, r(u)) = ϕ(x, y∗(x, r(u))) � Φ(x, y, r(u)) = Ψ(x, y∗(x, r(u))) 
����+�&������. ��$����&(��� +�������� �������# � � ��?�� �2 �+���?� �������.
y∗ ∈ P (x, r(u)) = Argmax

y∈A
f(x, y, r(u)) 

� M��2 �&�/��# +��2��.. +���$�+ ��������� �+���&���.# 2�1�� 6�+����( 6�8
��/� ���&���������� ��7��2�$������� �+���&���. �&���H-�2 �?��6�2 

Ψ(x, y∗(x, s(u))) → max
x∈X,u∈U

,

ϕ(x∗, y∗(x∗, s(u∗))) = max
x∈X,u∈U

ϕ(x, y∗(x, s(u))).

���&����� ����1���� �+������� ��&���. ���&�������.# ������� ���-����&.8
���. � +��$���� ��7��2�$������� �6��2��������. $����� � ������� 

�� ������ ��6�&(����� ���&�������. � ������ �������0 �����2 2�0���62��
��������� �+���&���. 2�1�� �����1���(# /�� � �������� �����2� � ����2 ��8
�����2 M&�2����2 �&. &H?�� 6���/� ��7��2�$������� �+���&���. ��-�������
M�����&�����. 6���/� ���&���������� ��7��2�$������� �+���&���.# ��9���� ��8
����� �� 2���� M77������� &H?�� 6���/� ��7��2�$������� �+���&���. 

)�1�� +���&�1��( �������/�� +������ 2���� ��9���. 6���/� ���&����������
��7��2�$������� �+���&���. �&. ���0��������� �������� �����2� � $�&������28
&����2� ������2� � $�����2 �� 6��&H/����. � ���&�6�$�� �&���H-�� �������8
������ �0�2� m@n 

< ���?-���� ������2� �$���� s 
D ��6��?���� $�����2 ���?-���� x � u �6 ��&���.# /�� y∗ = x q�� +���8

+�&�1���� �������� �� ����������� $����� ��7��2�$������� �+���&���. � ��2#
/�� �&. ∀x∗ ∈ X �������. ����� u∗ ∈ U # /�� f(x∗, y∗, r(u∗)) = max

y∈A
f(x∗, y, r(u∗).

� M��2 �&�/�� $���� �+����&.�� x∗�6 ��&���. Ψ(x, y = x) → max
x∈X

� f(x∗, y∗ =

x∗, s) ≥ ξ × max
y=x∈A

f(y = x, y = x, s)# +���������� u∗ �� ������ s � x∗# �?��+�/���8

H-�� y∗ = x∗ 
@ 
�7��2�$������ �6��2��������� $����� � �������# � +��$���� ��������

$���� ���-����&.�� 2���7���$�H !�+���&����" ���?-���� !��+���� h ������#
�����+&���.# ��6���# ����2����$�." u∗∗ �6 ��&���. y∗ = x∗ 

B ��?�� ������2� y∗ 
E ��&� y∗ �= x∗# �� +��$��� +����&1����.# ������ ���?-��� ����H �$����# �

$���� ������������ x∗ � u∗∗ �6 ��&���. y∗ = x∗ 

3� ��"�6<&� &4�%'��� 5&2� �@ %�6:'>�� #$F&8' >� �:%68�5 ���$D '���	
6&#

�� ������ M��0 ��6�&(�����# �����2���� +��0��� ���77� � � q2��� : mBn �
������ ��/����0 2��1���� �&. �+�����. $�&������2&����0 �����2 ��6��?�����8
H��. 2���� 7��2�&�6�$�� � �+������ ��9���. 6���/� ���&���������� ��7��2�8
$������� �+���&���. � ��&���.0 ��/������� +�������&���� � �����$�� ��?��� 
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3�&������2&����� +�������� $�&������2&����0 ��������� �&� �����2 ��+�.8
1��� � ��?���2 �2� �+���?� �������. � �+����&.���. �0 $�&������2&����2 �����8
.���2# ������� �?��6��� �0 �����$�H ��?��� � +��$���� ��?��� $�&������2&��8
��� ������� �&� �����2� ��+�&(6�H� 2���&( �����$�� ��?���# ������. .�&.���.
�0 ��/����2� +�������&���.2� � �����$�� ��?��� 

3�&������2&����� +�������� 2�1�� +���������( � ���� �������������� +��8
$����# � +��$���� �������� ������ +���0��.� �6 ������ �����.��. !k − 1) � ������
k 3�&������2&����� �����.��� �� ��1��2 9��� k �2��� /����� ��2+������ � ���
+���2���� 

��������&���. ������� ����� � ��/������� ���������# ��/������� �0 �$���� �
��?��� ��M��2� ����2����2 ��/����� �+������ 2���&�� �����$�� ��?��� $�&�8
�����2&����0 ������� ��� ��&H/���A

< 3�&������2&����� �����# ���-����&.H-�� ��?�� k ∈ K.

D ����1���� ��?���A ��&���. �������# ������6�$�����. ��������� �+���&�8
��. 

@ ��62�1��� +�� ����2 ����1���� ��6�&(���� !���?-���� $����� ��7��2�8
$������� �+���&���. 83
	" Oj ∈ {Oj | j ∈ J}A ��+��2��# $��� +������#
����.�����( ������9�# +��?�&(# 7��� 6���?����� +&��� 

B 
����+��� $�&������2&����2� ������ �+���?� �������. !���?-���� 3
	"
Ci ∈ {Ci | i ∈ I}A ��+��2��# ��?��� +� +������# ����2���� ��?��# ����� ��8
+�&����. ��?�� 

E 3������( !+�������&���� $�&������2&������ ������" ��6�&(����� �&. $�&�8
�����2&������ ������ K��/���� &��������/����� +���2����� �$������(�#
?�&&# 6��/���� 7���$�� +�����&�1����� < Vjk(Oj(Ci)), > ≤ Vjk ≤ 1 

F I������ ��?��� !+�������&���� $�&������2&������ ������" $�&������2&��8
��2 ������2 �+���?� �������. � ��6�&(���� �������2���� K��/���� &���8
�����/����� +���2����� �/������ ��?����# ?�&&# 6��/���� 7���$�� +�����8
&�1������D Pk(Oj , Ci) 

= 3������( $�&������2&������ �����.��. �&� �����$�� ��?��� �&. $�&���8
���2&������ ������ ?���� �+����&.�(�. � +�2�-(H $����� �������$�� <

EVk =

∑
i∈I

∑
j∈J

Vjk(Oj(Ci))× Pk(Oj , Ci)∑
i∈I

∑
j∈J

Pk(Oj , Ci)
.

C �$���� $�&������2&������ ������ !/������# �?�1����. $�&������2&������
������" 1�&���&(����� $�&������2&������ �����.��. �&� �����$�� ��?��� 
K��/���� &��������/����� +���2����� ����&�����# ?�&&# 6��/���� 7���$��
+�����&�1����� sogk(EVk) 

����� ��/����� �+������ 2���&� �����$�� ��?��� $�&������2&������ 0�6.�8
����H-��� ��?l���� ?���� ��&H/��(A
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J 3�&������2&����� ������# ���-����&.H-�� ��?�� k ∈ K.

<> ����1���� ��?���A ��+��2��# ��&���. �������# ������6�$�����. ���������
�+���&���. 

<< ��62�1��� +�� ����2 ����1���� ��6�&(���� !���?-����" Oj ∈ {Oj | j ∈ J}A
��+��2��# $��� +������# ����.�����( ������9�# +��?�&(# 7��� 6���?�����
+&��� 

<D 
����+��� $�&������2&����2 ������2 �+���?� �������. !���?-����" Ci ∈
{Ci | i ∈ I}A ��+��2��# ��?��� +� +������# ����2���� ��?��# ����� ��+�&��8
��. ��?�� 

<@ )���&� �����$�� ��?��� $�&������2&����0 ������� 

<B K��/�2���( $�������� $�&������2&����0 �����.��� $�&������2&����0 ����8
��� !+�������&���. � ��������/�����# ��2+��2���� �&� � ��������$��" ����
�&. ����� K��/���. &��������/����� +���2����� �6��/�2���( $����� ���8
����$�� $�&������2&������ �������# 6��/���� 7���$�� +�����&�1������@
R3kBSTk).

<E 3������( $�&������2&������ �����.��. �&� �����$�� ��?��� �&. ��������
�����2� !��+��2�� �&. $�&������2&������ 0�6.�����H-��� ��?l����" ?����
�+����&.�(�. � +�2�-(H $����� �������$�� D

EV =

∑
k∈K

snk(EVk)× EVk∑
k∈K

snk(EVk)

<F �$���� 1�&���&(����� $�&������2&������ �����.��. �&� �����$�� ��?���
�&. �������� �����2� sog{EVk, k ∈ K}l = min

k∈K
sogk(EVk) 

<= �+����&���� ���++�� M����2�/������ ���&�6� +���2&�2��� +� �� +�������8
&���.2 !6��/���. &��������/����� +���2����� �����+��� �&� ���������/�8
����� � 7���$�� +�����&�1����� R94Bαr)) �����. ����+�� �&� ��������/�8
���� α∗ = argmax

r∈R
sot(αr) ������/���� 2�1�� ?��( ��?���� �6 �������&�

[min
k∈K

sogk(EVk),max
k∈K

sogk(EVk)] �&� +� ��� $����� 

<C �+����&���� 3
	 +� α∗ ��������������0 ��&���� ���&�������. +� $����8
��.2 $�&������2&����0 �����.��� $�&������2&����0 ������� EVk 

;� ��6&2 %&� '%&#'��&@ &46�5�9'>�� ��"�6<�D 48�2%6'# ���@ '���6&#
& %�6:'>�� #$F&8' >� �:%68�5 ���&@ %�%6�5$

�� ������ ��+�&(6�����. ��/������ �+�����. 2���&�� �����$�� ��?��� 2�1��
6�+����( 6���/� ���&��������� �+��2�6�$�� +�������&���� ������� � �����$��
��?��� �������� �����2� �&���H-�2 �?��6�2 
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EV (l)→ max
l∈L

,

EVk(l) ≥ EV ���
k (l), k ∈ K,

EV ���
k (l) ∈ {EVk(l) | sogk(EVk(l)) ≥ α∗},

α∗ = argmax
r∈R

sot(αr).

EV (l) 2�������� ��6������� +� l# � � 2�������� ��6������� +�� +�����1����
� 6���/�# ��9��2�� $�&������2&����� �����2��# �� ����� � �����# +�&�/��2�0
+�� +��������� ����� ���&��������� �+��2�6�$�� �+���?�� �������. 	&�/9����
���-����&.���. 6� �/�� +����� ���&��������0 ��������� � +���0��� � ?�&(9�2�
��������/����� � � 2��(9�� ��������$�� /���6 �&�.��� �� 2���&� $�&������28
&����0 ������� � �����$�� ��?��� 

�0�2� ���&��������� �+��2�6�$�� +�������&���� $�&������2&����0 ������� �
�����$�� ��?��� �������� �����2� +�������&��� �� ������� 
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�4�%&<  �6�8'6:8$

m<n ������� 
 � # I0����9��&&� � � �������� +�����6 )A 
�	 ���# D>>D h
<><� 

mDn ,����� � � # ������� 
 � ��� �+���&.�( ������6�$�.2� )A ������# D>>B 
h B>> � 

m@n ��6��$�� � � # ��2���� � � ���&��������� �+���&���� � ����&&�����&(��0
��7��2�$�����0 �����2�0 � ����� )�1���������0 ���7����$�� �
����8
�������� ����&&�����&(��� �����2�� !N��� eNf�>D" � �
���&&�����&(���
����� ���/��� �6����� 8) A 
6����&(���� :�6���82���2���/����� &���8
������# D>>D hF>J � hNfug E8JB>ED8>@<8F � <FJ8<=@ 

mBn ���77 � # q2��� : � $�&������2&����0 �����2�0 ) A ���������� ������#
<J=B# 8D=B � 




